
Take-Home Exam 1

SNU 4541.664A Program Analysis

Spring 2006

Prof. Kwangkeun Yi

due: 5/9 13:00 in class

Problem 1 �¹���K�$3כ“ 7£x"î
”

��A�ü< °ú �Ér ���Ãº�� e����H &ñ
Ãºd�� ���#Q\�¦ Òqty��
���.
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V ∈ Exp → 2Env → 2Z

Σ ∈ 2Env

σ ∈ Env = Var
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→ Z
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V n Σ = {n}

V x Σ = {σ x | σ ∈ Σ}

V E1 + E2 Σ = {z1 + z2 | zi ∈ V Ei Σ}

V - E Σ = {−z | z ∈ V E Σ}

V let x E1 E2 Σ = V E2 {σ{x 7→ v} | σ ∈ Σ, v ∈ V E1 Σ}

V if E1 E2 E3 Σ = V E2 (B E1 Σ) ∪ V E3 (¬B E1 Σ)

B E Σ = ∪{Σ′ | V E Σ′ 63 0,Σ′ ⊆ Σ}

¬B E Σ = ∪{Σ′ | V E Σ′ = {0},Σ′ ⊆ Σ}
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V̂ ∈ Exp → ˆEnv → Ẑ

&ñ
_�÷&�¦, _�p�/BNçß� ��s�_� °ú��Ð�� ������

2Env → 2Z
−→←−α

γ
ˆEnv → Ẑ
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V̂ n Σ̂ = α2 {n}

V̂ E1 + E2 Σ̂ = α2{v1 + v2 | v1 ∈ γ2(V̂ E1 Σ̂), v2 ∈ γ2(V̂ E2 Σ̂)}

V̂ - E Σ̂ = α2{−v | v ∈ γ2(V̂ E Σ̂)}

V̂ let x E1 E2 Σ̂ = V̂ E2 (α1{σ{x 7→ v} | σ ∈ γ1(Σ̂), v ∈ γ2(V̂ E1 Σ̂)})

V̂ if E1 E2 E3 Σ̂ = V̂ E2 (α2(B E1 (γ1Σ̂))) t V̂ E3 (α2(¬B E1 (γ1Σ̂)))
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V̂ n Σ̂ = α2 {n}

V̂ E1 + E2 Σ̂ = (V̂ E1 Σ̂)+̂(V̂ E2 Σ̂)

V̂ - E Σ̂ = −̂(V̂ E Σ̂)

V̂ let x E1 E2 Σ̂ = V̂ E2 (Σ̂{x ˆ7→ V̂ E1 Σ̂})

V̂ if E1 E2 E3 Σ̂ = (V̂ E2 Σ̂) t (V̂ E3 Σ̂)

#�l�"f

+̂ ∈ Ẑ× Ẑ→ Ẑ

−̂ ∈ Ẑ→ Ẑ

·{x ˆ7→ ·} ∈ ˆEnv × Ẑ→ ˆEnv (8̈��â
 ����â
)

�Ér z�́]j +, −, ·{x 7→ ·}�̀¦ îß����
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